
Difference frequency generation, parametric amplifier ,

and
optical parametric

oscillator
.
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And what does that affect Erez ) ?
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So Difference frequency generation
is also called

parametric amplifier . Why
"

parametric
"

? The state of the

material is
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Now let's
formulate this
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To simplify things ,
let ok -

- o . ( assume phase match )

Also assume

Ese
) is

very strong ,
and 25¥97 -

- o

Iz
LZ ) = I ,

lo )

:
.

2Ej{# =
i mqwi Esco ) . EIA ) = Ki . EEE )

HIEI = inequity ol.EE#=-kiticz ,

Standard method to solve it :

TEGEL = KIZZEE) = Ki . KYE,
G )

= M÷Yiwi

#cost
. Eia ) = 8

'

Eia )
.

The solution ? I ,
Ct ) = A

,

et 't B
,
e-

A

Similarly we will have : Fitz ) = Aren't Brett

Boundary condition : Eino ) = Art Bio ; AE - Ba
.

I ,
CZ -

- o ) -

- Filo ) = A ,
-113

,

Another use of the
boundary

condition :

ZEYE = kitten ,
-

- o ⇒ TAI - 8131=0 ⇒ Ai -

- B
,

5tgZ =
kiting ⇒ HAIR ) = K .

- Eino ,

;



Notice that we havent choose our time frame get
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